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(a) Explain the steps involved in the ¢stimation of
National Income with the help of value added
method or production approach. (9)

(b) Explain the difference between Actual GDP and
Pnt'ﬁntial GDP. (6)
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(a) Difference between induced and autonomous

investment. (5)

(b) Explain the determination of equilibrium level of
GDP using aggregate expenditure approach and
saving investment approach in a two sector model
economy. (10)
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(a) Suppose an economic model is given as follows :

C = 100 + 0.80Yd where (Yd = Y-T)
1=150 G =50
T = 20 + 0.25Y
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Find

(i) Equilibrium level of income, consumption

and savings.

(i) Change in equilibrium income if G increases
to 100 and I decreases to 100. (10)

(b) What do you mean by balanced budget

multiplier? (5)

(31) w6 ve snfder wiew Ao w0 @ fear a2

C =100 + 0.80Yd where (Yd = Y-T)
I=150 G = 50
T =20+ 0.25Y
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5. What is net export function? How it affect equilibrium

level of income and GDP in an open economy? What

are the factors which affect net export function?
9 (15)
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(a) Define high powered money? Explain M1, M2 and
M3, (7)

(b) What is liquidity trap? Explain the hiquidity

preference theory of demand for money. (8)
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(a) How does an expansionary fiscal policy affect the

equilibrium level of income in an economy? (7)

(b) Critically examine the quantity theory money.

(8)
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(a) Difference between BoP and BoT
(b) Open Market Operations
(c) Paradox of thrift

(d) Objectives of Monetary Policy
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